HSC 2001 - Community and Family Studies

Question 7

Refer to the graph to answer Questions 7 and 8.
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7 What conclusion can be drawn from the data in the graph?
(A) Mothers who are not employed spend more than 500 minutes per day on child care
activities.

(B) Fathers who work part-time spend less than 240 minutes per day on child care
activities.

(C) Parents who work full-time spend a total of 500 minutes per day on child care
activities.

(D) Fathers who are not employed spend 50% more time on child care activities than
fathers who work part-time.
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Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

A 22.2 19.1 7.5 2.2 0

(o3 3.2 2.9 0.9 15 0

D 28.6 14.7 8 7.4 5.3

N 0 0 0 0 0
Ruestion 7

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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